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BRI ARt 4,175,995 6,337,712 ~2,161,717
2 199, 144
z 1,755,000
| 27,616
= 32,280
2 2,161,955
S5 MY SH (2L /25H0S) 171,452 153,120 18,332
BESH S4 171,452 153, 120 18,332
HOAEER X 85,032 80,840 4,192
101 2121t 4,032 3,840 192
04 JIAH2EZXES4 4,032 3,840 192
OBHAEZH X Ry
33,6002 *4% %302 4,082
203 AR E=WY| 1,000 1,000 0
03 AlZ =TTy 1,000 1,000 0
OBHUEEN BASY 1,000,0002 1,000
307 BI2HOI 45,000 40,000 5,000
02 BINANBE 45,000 40,000 5,000
OBWAEER AKX 45,000, 00021 45,000
401 Al&HIL 20| 35,000 36,000 A1,000
01 Al&t] 34,730 35,676 £946
OBWAEER BAZ ZH) 10,000, 000! 10,000
O EZIIRI| ALY 24,730,0002 24,730
03 AIZ20i4l 270 324 YANSY!
OZWAHZIIRI| AL
25,000,002 *1.08/100 270
HAYEEEH X 86,420 72,280 14,140
101 @121t 5,420 1,280 4,140
04 JIAH2RZNEL+ 5,420 1,280 4,140
OZYYTZEMAY 22
33,6002 x8F x5 1,344
O+48N HE22IQY vy 4,076
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01 A& 10,000 10,000 0
OZZAZTEEN HAZ HHl 10,000,008 10,000
04 B ARHEIAl L 25,000 20,000 5,000
OFYYEZEH I+ £X 25,000,000 25,000
BRIIE HE(2HUBY/ D) 3,766,133 5,967, 182 £2,201,049
= 1,755,000
p 27,616
= 10,424
= 1,973,003
2YXRI|E =5 3, 155,000 5,250,000 A2,095,000
= 1,755,000
= 1,400,000
ZEEHAALY DEAY 600,000 2,500,000 1,900,000
401 N&HIL2OHH] 600,000 2,500,000 1,900,000
01 Al&l 596,400 2,500,000 1,903,600
OYHE HARXE A NE N4
198,560,000%! 198,560
ON2Z AHI0I D X4 100,000,000% 100,000
OM2ZAHIONID XIY2 e 297,840,0002 297,840
03 Al& =i 3,600 0 3,600
OYHE YRS A NE H2a
200,000,0002 0. 72/ 100 1,440
ON2YAHOLT YR JHa
300,000, 0008 %0.72/ 100 2,160
YN HLSH(MEBHXE) 1,755,000 2,415,000 660,000
2 1,755,000
201 ety 107,800 547,800 440,000
2 107,800
01 At2 2l 107,800 47,800 60,000
OBAN AL NS E 3 H AL 107,800
—Bt&cyber 2YHEY PE 15,000,000 15,000
= 15,000
—BS0IS S8 LZMUIAOBIHID 2
100, 000! 300 30,000
= 30,000
—FAMASH B3 A
70,0008 x20% +23] 2,800
= 2,800
—DTSHOIYMR M
30021 50, 00052 %4 3] 60,000
2 60,000
301 Lere A= 7,200 7,200 0
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2 7,200
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—2BUUSY TS U HOIL A
30,0002 %202 +32! *43] 7,200
3 7,200
401 AIZHIL 2O 1,640,000 1,360,000 280,000
z 1,640,000
01 Al 1,634,096 1,338,240 295,856
OZANALHSHIH AL 1,634,096
—YSIEYTS BEH BN N
1,634,006, 0002 1,634,096
z 1,634,096
03 Al& = CH| 5,904 4,896 1,008
OZ AR AW SH 3K AL 5,904
—YSBANS BEH BB MY
1,640,000, 0002 %0.36/ 100 5,904
3 5,904
0N IEE BTHYCK X4 300,000 100,000 200,000
401 AIEHIL 2O 300,000 100,000 200,000
01 Al 297,840 100,000 197,840
OB IS DFFEYST =4
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OM& DUYTE HBAY
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o] 27,616
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—JI=2s 33,6003 x 12120 4,032
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—4i28g= 4,839,000& *12.3% 596
201 Bt 107,940 119,932 A11,992
01 AtR22iHl 82,060 94,052 A11,992
Oget=2H| 35,200,000 35,200
o=d=+d 30,560,000 30,560
Oonl=tl 2,800,000& 2,800
(@F=3={| 3,500,000& 3,500
ogxs 10,000,000 10,000
02 S5=2&H| 25,880 25,880 0
O=32aLAA 23,530,000& 23,530
OAl £ ZHI| Xl 2,350,000& 2,350
202 044 10,800 10,800 0
01 2UWHHYI 10,800 10,800 0
OZAH DI AtHF& 10,800,000 10,800
206 T2 H| 11,550 11,550 0
01 M=Hl 11,550 11,550 0
OxZ= 2l & =ZMA 4
10,0003 x5& 53] 250
OZxd=+ AlHl 7Y 20,0003 *30 £ *33] 1,800
OAN&EE B A7 100,000& 55 *43] 2,000
O=sge3l2el =2+ 500,000 «55+1CH 2,500
O&xtetdel 7Y 5,000,000 * 14! 5,000
301 Let2a= 12,640 27,200 14,560
10 SAHAHIE2 oS 8,640 21,600 212,960
Og20s9 NASAHA ABl24
30,0003 x4 «6 L »12& 8,640
12 JIet24a = 4,000 5,600 21,600
O=Eg3J| 7Al&el 243
100,000 8L x6H 4,000
DIEd & i 22 22 15,499 134,353 A 118,854
101 1A 15,499 14,353 1,146
04 JIZHMIZ2XNSE =+ 15,499 14,353 1,146
OEIZESH 223 UFY 14,491
—Jl2s 33,600& x2& 160 10,752
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SETEEYE 219,408
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= 199, 144
= 20,264
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—EHHAZRB LY F A
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